MA 109 Summer 2018

Review for Final Exam - Part 11

2 Polynomials

2.1 Quadratic Functions
2.1.1 Example

Find the maximumvalue of the function f(z) = 222 + 11z — 4.
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2.1.2 Example

Find a quadratic function f(z) = az? + bz + ¢ whose vertex is (2,3) and goes through the point
(5,5).
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A farmer has 300 feet of fencing to construct 6 rectangular pens. What is the maximum possible
area of all 6 pens?
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2.2 Polynomial Division
2.2.1 Example

Find the quotient and the remainder.

473 + 22 — 6z + 8
r+ 2

X" —Fe v g
X+2 | H x> X —6x ¢
TNy
KT -Gk %
TA - \Hx

& x

Textlb

X

/nf"-‘*ﬂ j “he
e (Grabi-084 |3 F:a

2.2.2 Example

Find the quotient and the remainder.

6z7 + 1523 + 2 — 8
\H 3z% +17
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2.3 Finding Roots of Polynomials
2.3.1 Example

Let P(z) = 5z® — 922 + = — 14. List all of the possible rational roots of P(z) as given by the
Rational Roots Theorem.
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2.3.2 Example

Let P(x) = 4z* — 7x + 6. List all of the possible rational roots of P(z) as given by the Rational
Roots Theorem.
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